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1. HE: HBHLFRE (g « AF—EBRmLYA 1: 5~10 FIELE] CEEFREZ 0.1g A4, A 1mL 3
7)) BEATUKIR SIS . 16000g, 4°CE5.0 20min, B B UK B,

2. 4. AE: HERARSeE ot o BWF AR (mL) A 500~1000: 1 BIEGET G2 500 J34HAE
I ImL B850 —D, UK AR A (D2 300w, #8438, [Ek 78, S0E 3min);
16000g, 4°CES.Lr 20min, BB vk B4R,

3. MIESRA: HENE

ADH MUEHRME:

1. 230606 /BRI 30 min, WK H) 340 nm, ZEEKIHE.

2. WHFI =T 25°C/KE - 30 min.

3. FEE A P L /96 FLAR AR 20l FEAR BB 160uL BGF = A1 20puL 7700, BGdRAJE T
340nm MEBOGEAAL, 3 AL 155 B 75s IFEOGAE, 205id o A1 F1 A2, AA JIEE=A1-A2,
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(1) B EEIREE

TEPERALE X 25°CH TR O 814%L Inmol NADH 24 1 ANERE B4
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ADH (nmol/min/mg prot) =(AA-+e+dxV K Ex10%)+(CprxV #£)+T
=1608xAA +Cpr
(2) FRHRFEA S BT
TR E X 25 C A T H YU S8 A AL Inmol NADH A4 1 ANBEE B4V
ADH (nmol/min/g £ H) =(AA+e+dxV i x109+(WxV FE+V FEE)=T
=1608x AA +W
(3) 40 A T
TEPERALE X 25°CHEE 104 M ERLAE 440 Inmol NADH R 1 /M $47.
ADH (nmol/min/10%cell) = (A A+e+dxV & x10°) (IR XV =V FEE)+T
=1608x A A 4 1 % &
(4) HRIAARFR 5
TR E X 25°C R THILE R/ 80 %k 1Inmol NADH 4y 1 ANEGE HL47
ADH (nmol/min/mL) =(AA+e+dxV [REx10%) +V #£=T
=1608x A A
e: NADH JE/RIE R EL, 6.22x103L/mol/em; d: HLEBIMYEAE, 1 em; V Rk RS REARFL, 200uL=2x104
L: Cpr: FEWEHEFIKRE, mgmL; W« FEMBTE; VI IDARBE RS BERAER, 20pL=0.02
mL; Vs BEGRAR, 1mL; T: &MEE, Imin.
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TR E X 25°C R R P L Inmol NADH 4y 1 ANEGE HL47
ADH (nmol/min/mg prot) =(AA+e+dxV X &x10°) +(CprxV ££)=T

=3215xAA+Cpr

(2) FRHRFEA S BT

TR E X 25°C R S5 B AL Inmol NADH iy 1 MEFIE B4 .
ADH (nmol/min/g i H) =(AA+e+dxV [ x10%) «(WxV FE=V FEE)+T

=3215x AA+W

(3) 40 A T

TEPERALE X 25°CHEE 104 M ERLAE 440 Inmol NADH R 1 /M 547

ADH (nmol/min/10%cell) =(AA+e+dxV i x10%) ~(AH ==V =V HEL)=T

=3215x A A4 I 5=

(4) HRIAARFR 5

TEMERALE X 25°C R THILE R/ 80 %k 1Inmol NADH 4y 1 ANEGE HL47

ADH (nmol/min/mL) =(AA+e+dxV [REx10%) <V #£=T

=3215xAA

g: NADH EE/RiEN R, 6.22x103L/mol/em; d: 96 FLR 64, 0.5cm; V KiE: KMNKRBAER,
200uL=2x104L; Cpr: LiEWEAFIKE, mg/mL; W : FERRE; VEE: AR R BB,
20uL=0.02 mL; V FE&: SREBARY, 1mL; T: KNESE, Imino



